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1222 + 16 = A1)

6. 6c* — 9c = 3&&6’* 2)

2. 8g% + 20g = \_\q(&q*S)

7. —9ab — 27a° — 12a° =303’(- 30/5—‘\() 2-‘-{)

3. 813 — 36r—4——L\(a(5 q( D

8. 18c2 + 4c = Q\Q(q(,‘\’a

5 95— 00t = (35 e 25 4H10)

4. 28s? + 20s =L13(’\3+5)

9. —8yS + 4y* + 8 =L\(—aj]l! y!!l—\ ra)

5. 16x3 + 4x? + 36x =ux(qxa””q)

Part Il — Difference of Two Squares

‘71. x?— 16 = (/)C.L\\(/)“q

13, 0+ 36 =\\k o 0Kk ofsual?
14. 64 — 2570 =(§-S GXY+6‘5

L= ]

10. 35v% —15v° — 1502 =9y 3‘(1\1"\ “NT 3)

ot (A (O

ook - 49 = (I * DO
18. p®— 25 = (()

19. 4— 36v*? —L\(\_q\,\mu)(@ 1

20. 144 + y* —NQ’\ o dl

Part lli — Trinomial Squares

21. x2 + 8x + 16 =('X’(H b )

o

26. x2— 4xy + 4y = ('Xdatp"}‘

23. 9x2 + 18xy + 9v* = q(x+

24. 16x% — 56xy + 49y —(LW “
>

25 x2—6x + 9 = ( -3
Part IV — Trinomials in the formx? + bx + €

31 x2—6x 7 w{l

32 s» 4+ 125 + 35 ()‘k—]}(.B{S
33, p° = 97’ + 20 = (Q/LD(Q 6
| 34. b* + 5b- 36’(M

s - 1ax + 49 = (LY ) 27
QA r ALY ¥ y*

28 1247 + 362y + 277* (Y QH/&ﬂj_q )=
A |29, a* + 14a? + 49 =(&(‘D9\

27. 22 — 40x + 200 =3 () o"AO')ﬁ'l&D"

30. 4x* + 4x* + 1 =(%%J‘ *,\Y\

36. 2% + 5x + 6 = (Xta)('x\'g)
37. w?— 6w — 5 =(\Q,§)(W-0M
38. k? + 3k— 4 = (Y—*L\X\L'\) -
39. h? — 9h — 36 = (h_m)(\-\\ 3)_
40, w2 + 2w— 15 = () +5}(w -@__
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Part V — Trinomials in the form ax? + bx + ¢

41. 2x* + 9x~ 5 = (’xm(xﬁ 46. 2a3 — 38a® + 176a _RCA(Q “XQ°<‘)
B () (aed)

_\.m . x93 (q® N
42. 16m? — 48m + 11 =( A H 47. 225 <‘12(15”q 8303) a9 ("\"‘D(‘\)"")
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Ay 48. 3d? +18d +15 = =) (dvo'ﬂd’(\\

43 3x =
ey D) | 3E 0
44. 20c? - 63c + 49 (C ’}SXC 35) 49, 2x“— x—15 = (9)(%‘/5)
(-3 I% _(6‘ 17 (L'C ﬂ Xiﬁc -30 ('f( 53( 3% )
N *00 (a (02

45. 4u?® + 37u + 63 =

U v+ 253 (UFﬁ(L‘\)*Q) i 3& 1\3‘3%1 (Ot \('ba \)
56. 7y% —

Part VI — Grouping
51. 4x° + 623 + 637 + 9 Q’X”*%}U\Y 3) 1 b‘{)fb)(‘S’&)
20 (A 3) +7)(?7\'x‘*5) Ty (y- ‘%\,\0 \&—ﬂ |
1) (4) Gy Yaxr2)

57. 12xy + 3yz
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53 4y5 +6y*+ 6y 2—<\'5 37;» 58. 20a + 12 — 25ax — 15(‘4.6*) (SMS) ‘
d( ’Mxﬂféu\"‘{aux?b U\«MB) L(56x3) -5x(50+3 )
54, x3 + x7+ 2x (’)(7‘&&)(’34"*\) 59. 4mn b+5na+5 })(Lh\“(“s b
ﬂwmm%) T n o) 450 atb nS\ 15X0xb)
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Part Vfi- Mixed Factormg
‘9[)L 21 d? + d- 132 = 66. 3n% - 43n + 84 = ((\-W)\(\'j)

(A0 Boaarasa (@an)

o2 77~ 100 = (0 -\0)(p1\0) " (;@”%;Qh d

63, 3v% + 9v’- 1202 =32 ""(\\}7\:0 68. 4x "+ 4x* +1—

| u\la(\lq’(?)\l' ) j\l L\ ( (%’Xﬁi\'\) |
64, 3hZ + 44h + 121 =(\o\\,’3)(\\.\_\ﬂ 69. 1&8{3_%1{— 3&((;:%3—6(' -5)(("7
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6"7 9x10 + 12x° + 4 —(XG*%)(YS_\_Q

(70, 22— 62— 72 = (




